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ASSESSMENT TASK 3
(20%)

Mathem_atics
Year ||

General Instructions

» Working time: 55 minutes

« Attempt questions: 1-3

« Start each question on a new page
in your answer booklet.

« If any additional booklet is used, please
label it clearly and aftach it to the
appropriate booklet.

« Write using black or blue pen only.

« Board-approved calculators may

be used.

« All necessary working must be shown.

« Marks may be deducted for careless or
badly arranged work

Student Number:_

Total marks — 44

QUESTION 1 (13 marks)
P(2,-1), Q(-2,-2) and R(0, 3) are the vertices of a triangle PQR.
@) Find the gradient of PR
(i)  Find the length of PR. Leave your answer as a surd.
(iii)  Find the equation of PR. Give your arswer in general form.

(iv)  Find the perpendicular distance from Q to the line PR.
Leave your answer in exact form.

) Find the area of APQR

(vi)  Find the equation of the median QF (the line joining Q and F,
the midpoint of PR)

(viiy  Find the co-ordinates of D if PQRD is a parallelogram

QUESTION 2 (20 marks) START A NEW PAGE
(a) A ship sails from port P on a course of 075° for 28 nautical miles. It then
changes its course to 130° and continues sailing for 32 nautical miles.

@ 28 n.m

P

6] Copy and complete the diagram into your writing booklet for the data above

(i)  How far is the ship from its starting point? Answer to the nearest
nautical mile.

(ifi) What is the ship’s bearing from its starting point? Answer to the
nearest degree. :
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QUESTION 2 (continued)
(b)  Find the exact value of
Q) sin60° + cos30°

(i) sec60°, sin240°, cos(—60°)

©

@) Calculate the length of BC. Give your answer correct to 1 decimal place.

(ii)  Calculate the area of AABC, giving your answer correct to two
significant figures

(d) Solve for 6: 2cos8+1=0 jfor 0°<6<360°

()  Simplify sin?@cos’ @ + sin*0

1 B 1
cosecO—1 cosecO+1

Prove that =2tan’ @
®
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QUESTION 3 (11 marks) START A NEW PAGE

(@

®

In AABC, YW =8cm, BC= 12cm, AW =5cm and YW || BC.
@) Prove that AABC is similar to AAYW

(i)  Find the length of AC

©

W

XYZW is a parallelogram. XZ is trisected at Q and R.
(6] Prove AWQZ = AYRX

(ii)  Hence, or otherwise prove that WQ=YR

END OF TEST
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